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throughout the paper.
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Attempt A/l questions.

All questions carry equal marks.
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Discuss the concept and significance of industrial relations.
Explain how various actors in industrial relation interact with

each other.

SEifiTeh Hadl 1 Tehew oiR Hew w1 faa=d ifeu)
e wite i oledfr ey d fafy= ferwr g
THR WER 3fE:fFa 1 ¥

o -
(3rgam)

Discuss the scope and objectives of industrial relations. Briefly

discuss the various approaches to industrial relations.
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What are the important causes of industrial diéputes ? How

can industrial disputes be minimised or prevented ?
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Or
(3rgan)
Discuss the statutory machinery suggésted for settlement of
industrial disputes. HOW effective is that ?
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Write an essay on Trade Union Movement in India.
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Or
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Define trade union. What are the causes of failure of trade
unions in Indian context ? How can a trade union be made
more effective ?
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Define collective bargaining. How is it different from negotiation ?
What are the essentials for the success of a collective bargaining

process ?
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Or
(3Feam)
Distinguish between :
(a) Conciliation and Arbitration
(b)  Arbitration and Adjudication.
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What do you mean by workers’ participation in
management ? What is its significance ? What are its

limitations ? Explain.

TEY H HETR # Tewfiir @ oMY ¥ 9we § 2
THE] T AT ¥ 7 TEe! wn gRdmd § 2 W
FHifaw)

(3rgam)
Write short notes on the following :
(@)  Forms of workers’ participation in management
(b)  Process of negotiation

()  Preventive machinery for industrial disputes.
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